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A Paper : III

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

® No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

® Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

® Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

® Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

® Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

® There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

® The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

® The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

® There is no negative marking for any wrong answer.

® Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.
Very Important :

® The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

® The candidate has to return the Question Booklet along with the OMR Answer-Sheet to

the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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foriaet

*[1 09:55 IHIT IS LIPS Y |

OMR T&7 “qq 42 QS Wa TEIH! s 917 9IS 2miht ARG “Af e |

o S5 BfeT 4] TS (@RI AT 29w T fToqe 2@ T2{| /] T @Y IR
oS i 7R |

o I T SR SPIR o STl (T Al 51T Ty T AP forepTz Seed 3G9,
(S8 (SEF TS Jfol A1 71 27 |

® Non-Standard OMR I@T® 2(A “_FFIAE Fo@ @F 799 euFiFed Mg sz =B
Tt =far |

o SrHIEPTRCE WA Ml SHFES /(@ET *ae YAR FHa PR A0, 2I=E_IT (SSTECS 210w
FHS P A2 FAIF TS IF TSI OMR TG IF eWFIFOUC] F1aweF ol
R SIS | RICT 2[RI oS /e “Iqe sl i Je 903, (S02 & (SSTEF
s 31 4f9 @RI Ea |

o A FNT AFEN (9 LAWEAT B4l (rough) FW eEFIFoS il HizeE F @ |
AN 461 (rough) FI TG A1 Al B (FICT 476 FlaTers A GRIRA | Teq o[ I
@2 Y541 (rough) PN *HIFE T, (SIS T (ST T&H #[@q T 91 7927 |

o S 2T AT AMHIF €= Vg OMR T&T “[q(z Rl 27 | G 2 I Wam IR
wfefie il Teq o9 i w929 |

® NIFOT TS ¥¥ OMR Teq “g il 27 | *[=If@ ¢z [HE OMR Ted 7o
ERJFOT T, LFTOT T, 2G| ARG @ ATl /T N -5 I 7 PR
R |

® S[IFR 2 TG F eHFFoe 100 B 24 AP ST eTSFeh! &t A 1.50 T3P
2 |

o 1 TG I (I AP 779 11T |

® IH(AIRIR ©2 fR[ @ AFINET OMR Te 2[qS el /F 3l I1-9436 (102 T2
A AN |

o “RrFIdiE (OSTEIRT R To M @ erTire erpHR RO 279, @ PN,
ST, 0T, o o BRAG! | @2 (S ARG A TRFIS @I 4701 s Tz 3K
(oIS PRI 2o 3RAMG TRFREDBIR2, 2T Wi e 9o A |

Important Instruction :

o T FPve @RI Tt ATS LMFIFTSI T TG OMR T #[9g S 51z fordt =7 |
TR, AN A= 9 RFIFOT G A’ QP OMR TE “q w3 5iZe <A
forfR =far =i Sf#E 38 <A’ T 'a1 SR AR | esives (51t Remifs @R Amdie
TR TGP Sl IF QRHToL Feie A 37 |

o ~IF T Ol FIT TS AFIIE WIHFT 2T OMR TEF #[dF TS IO
ot T o | SRt s e sreies I Rafte 2'9 |
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feRmEt

TPl 09:55 THPI TS e Yo 1 |

OMR T #Iq7 AL TEHrs wan Texb ofers T +t4 &b 4 #tw e |

o P HoTCe APl SR @I AN <9 oA FooF @ [l K T (=S ARE
ST SRS (TS =T A |

o I FR AT PR TAAR ST FE A T T T AW R Serew FCE,
SR OIE @Il A6 [0+ 741 23 |

® T SHIIURT OMR @7 “[(ad &) IS e (@6 w91 els#itad Wiie 2 =8 3
for® 207 |

o FrHFiaE R e ToRERs /@I #Ita YA [ 0o 2, 2ARIF Od 2100
FCF P 242 FAF T R ORI OMR T@d7[@ @3k 2#afs s ol (redid
AR | (I AR ST /e #itq A SR FE 1 S, SR Ot eI 0
51°ly T 204 |

o SIS AT HEE ARG T (rough) TS %08 (S| BT FACS ARE | 2wl
2T (rough) IS TG 1 T (FIF R FI9E FACS AR 1 | AW 27wt @3 27!
(rough) & TELITE T, OCI U2 TEIACES FeTIe 1 2 1l |

® 1 TR &y *AFNT ¢ g OMR Teq9g (s X | T A A Wa IR &
SRR (e Tearig (eI I A |

® 2R[(TF A «Fb OMR @@ (eql 2@ | A= G712 (8 OMR Tereitq emitas
T, ePEIIR (T TSI AR WY 11 /I IRI-ARS o =T 5] FH00 2 |

® <[SFPIF TR 2 I6! €I 2H#itg 100 b 2R AR 3R TSP &THT &) 1.50 797 F¢F A
R |

® o TG T (I YO TF] AP A |

® 5% O (FTIF G “HIE OMR TGR#IGF 161/ FICEA Te1-&B 7] 2T FACS 2(A |

o TR OITE R T ATS 2@ @ WA 2Bt IS 2@ | @ - SPIaR],
A, AT, TR @R TG | @3 CRG TGN ORI (I LR SOHRS T (@0
P BCE BRG] HANDE LIPS W 03 91T FHCH |

Important Instruction :

o IR fRvs 2eq Tve AT eEam @I T7110 OMR $eR7aq FiFE I @14 =7 |
TAIRRTT, RPN A eMolad (IS ‘A’ AFE OMR T6F70a7 FiiE B ‘A’ forire =@
G B 78 ‘A’ T 10N TA0S 23 | IGg (I SPTHRS (YT ARTIS) SRR Raglh e
R R 2Paft 379 TACS 910 |

o~ % TII% TR +ITE AP AP 20S OMR SeIItad A0t e i fires
2 | & 1 e SR S I Rt 2@ |
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%1 09:55 fomfx Rt smeef Wi fersEt s@ATeT |

T ANTYHATE TS Tt gt T Treten St @ EE A |

® 3IFITE T UHR U Taal [SHRERE 3G ST G T TET SIS @ TR
BT ST ST |

o Ife Aian fommemmn miy war @R wen S T e AuerEt fawren, gt 3R gee
TR ST |

® Jf¢ Non-Standard OMR Sheet STERA™ SETEAT, fSA=@ETET MaaT-maf I T8=1 (Roll
No.) @i feramsf & Srrmeme tram forar amme |

o fomrraTRIt Arfshifen gmm Jolmm /et feemsare s g e 9, fifsere Seer
T 3riTe @umRTe TifE dEE TEE A AR @ae g e 3T OMR e faarsat
ARG ST BH THTE | SRaT o IS /el faemgee Ay wsh aem gt g
GTATHT 3T6cAT fHLUTHAT 3TTITTE €141 AT 1T €/ o1 ST |

o fommrerEmn MEf e TG M IFE rough FETE T ST e g |
feA=@™T rough FEME! R foeTsaE TET oA TEWH @RS SEREl gFE A8 |
feeTmsama 3¢ 9 rough FERE @A 3761 bR foeTE@ UM WA SR ST |

o TTHE FHEMA U™ feFrEE THe OMR A= faems A wrme | mRf Seen 19
o st st forar ferette @ s = |

o T faags @rmE TH OMR = faas gF™ sme | femmeamn & &1 OMR
ATEATE AT - : T foersf Twr om0 d@qe foemst ', vaft w's smfe safest
e el TS T Soqu=stl ot T |

® AFSICH HHT 2 =l AW T faaigad T9 100 iy 9FE 3R A% el SR s
Tt omEm 1.50 T YW |

o I fFArafy ara™ Set g’ =R 19 |

o TR OMR T faretmsema @t el TR M Seu-sial el Qi@ 317 Qe
AT |

o 31are & it glwenfy e marme arfgamn @it @ faemst et gimer me
Taf JmE, SR 3T, oo, 9U, B 3 suis | 9 9oteme weel fol T wiEeEEn sd-
51 T GRS TSI ST SUSTE BTG T H1s &A1 S5 1 A0 |

Important Instruction :

o fommrramrn e wHrEn wiwife g e % 'sEt OMR e faemsf for s o
a2t A | el afed femrmmn aam aae fTemef %' <A @t e et f
SR G e e ‘A o anme o for sieeE e EremHat A |

® 3THSE WATE! ARTAE farm fsAreamn Amfemfy smamma OMR A faemgst evma
i feeg@ian ST gt ARTH | TSTee1 SHWIE gt Taned fFems e S |
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g

uTd: 09:55 &t | Yd Y9 Y 7 @i |

OMR STR-U= & UG I | Jg I ffga o € gg a4t T3 AaUHiges ug |

o vilieT Terd T foreft wiemeff =l wdian wam o Wiat SET 1o wier e Bt I i ITAR
KIS Ll

o fe I ghiemeff Torq qlient 3TUTAT B A1 W IfectRad FaHt 1 oot T 7, A1 39 3™
U T SR |

® Non-Standard OMR 3W-9= % I91 7q eqefl 379a1 Tet 4. I gfedent # fou 70 v w
wog 9 4 ford |

o uhianefi @i fritere g feu Tu 3ufef /e 3fic W & IR SEaTeR T TR, Ugeh 9 3T o &
g 3TN gEdl IR WA gfEdert 3R OMR IT-93 Flieres sl Hiod & o1g | TR Torelt wdiemeff =
Iufef /Ue 3ffe W e gedter T foham, at 3| wdienefi s srufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T iEaehT § feU MU T X T weh | wdeefi W
(rough) S IT-9 A7 31 Forefl T8 & BT W & L Feh | I qhiemelf ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh T2l a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € @ S | Tt §H R 91 g & &
for =g riiter sTr—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-97 fean smum | wieneff 39 fifde OMR Iw-93 # ¥
GfEent ., T¥ GFETehT T I 3T HIHT 1 IS AT Torexor FTaeT & shaet el 3T el sicl-
Ui5e U | W |

® TieTT ST FHA 2 U BTN 3 ¥ GfETehl § 100 T &1 3TR Jdish I o foTw 1,50 376 i |

® TTeTd 3R % {70 S TohRTeHeh 37eha 781 2 |

o TR 1 38 T8 T 3 OMR IT-T3 W hael ATl A1 AT Sicd-Tig 9 & gt FIAC
AT B

o wiereff araft glaen & fotw e wd T3 wea gfcasht &1 S Jod sg-wifyes g, S8 - srafie,
s, arel, fawdt 37t 31t | 30 ey o wren o et 8 foneft wehr 1 7fe o wmem § srgfaen
B T TSI TETG I & F&l HHT ST |

Important Instruction :

o ulignedi 7z gHivaa o & foh 39k g1 W9 YRRt &1 g OMR SW-U § &@ & ¥
T /ST R e @ | SeTEwREEy, afe udenelf fit uv gieaet @ @i ‘A’ @, @ OMR
ITR-U | hie ‘A’ foremn grm 3R gt A’ Rt el 1 g | afe T gftaert | g we an
30 e 9 S fremfa fore, A gema wdten Trfierss @ o va gferen aeem i % |

o Tlten WA BieH ¥ Uget udiendt i Fiersh % U OMR STR-US & WY U9 Yieaen ot s
AT BN | ST 3¢ STJUREd o w9 | FHel S |
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1. SRR TSRS N0 IR SIFEs ?
INEE ) (B) oG
(©) g (D) ==&l
1. @ 78l Sl ot “fhed AR« ?
(&) =T (B) &
(C) Tagf (D) =
1. A T TEEARHREN ThheTaTe s« e T3 ?
(A) T (B) T
(C) WIE e (D) T
1. e ot § SiF &1 U1 Hisg 6 8 7
A) <« (B) =&
(C) < (D) drem
1.  Which colour is not present in the Olympic Flag ?
(A) Red (B) Green
(C) Purple (D) Yellow
2. T G 52T T :
(A) TATI (B) TGN
(C) oM (D) fer
2. o QG *2F 2
(A) Jors (B) TIFGAICEN
(C) eI (D) fer
2. WEEHUyEM e
(A) ST (B) dfegmm
(C) zam (D) i
2.  UEHITSYM &L :
(A) ST (B) &feamm
(C) ®amn (D) <fm
2. The Capital City of Peru is
(A) Bogota (B) Santiago
(C) Havana (D) Lima
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TPICE B3 GSIHEs T S SRIES :

(A) TR (B) fermel
(C) ZEERM (D) g
IS Y5F GHEEG SAES

A) &2 (B) TleTRlol
(C) zZEERm (D) forG gt
IS Wi THISS TR G 7

(A T=% (B) I
(C) TeTrse (D) e feeedt
AT T TaE Ffeme |

(A) HE (B) ITehrl
(C) Teueg (D) % feeeht
The National Stock Exchange is located in

(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi

9B ST “[1 S FECHRGE FiRe YR FASRS Pkt G HSE
TAWCE! FrafeTe Siferpla «11 foeiies 3 |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

forc Srafie ool (A @I AESMIT TAMFDG G5B FEITHR (AF T FTHIE
(2% ZABRS FACS IR 41 IR of Tofzee S |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

TERTE B §6 T T AT (hardware) T8 SRR T TH HRIHH TATgas
QLA (file transfer) gR1 ?

(A) BIOS (=)

(B) Hard Disk (gTfee)

(C) CPU (drfy)

(D) USB Flash Drive (3.78.5f. %9 g159)

FfcTRad = € 39 SRR I 3l U8EH i, S T HFfet 8 GER Hreet H HIsal i
TN HH o T3 ST T ST HehaT B |

(A) s=E (BIOS)

(B) =®E fe& (Hard Disk)

(C) .4y, (CPU)

(D) 3.wd &t %I g18d (USB Flash Drive)
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4. From the following list identify the hardware component that can be used to
transfer files from one computer to another.

(A) BIOS
(C) CPU

(B) Hard Disk
(D) USB Flash Drive

5. Teq SNy Dig-9lleR ool niHwd Sife e ey Aeref[ [l 2 I

O[] 323\_05\:
(A) FRICFRE STl
(C) RGN *RSTet

(B) STrosal o< ey oRoxe
(D) A7 “flg= s

5. Te ©INUeY PIE-9ME ASRIE 7 SINre SHES WS gl (A0F (@I

HESHE ST FCACE ?
(A) TRICHEN “oxer
(C) SRRE! *ReE

(B) o7l 3R ey *Rewe
(D) AR gl *KeT=l

5. I SRS AT-WRAaH -1 SRR @ien TR gaer SRAE STTerer el ?

(A) HRHRH
(C) 3Eett

(B) TAYe! AW fdeam=a
(D) YR U

5. I8 JAavit ST IR HRA o WRA-THTT o HeTH1 shl SaTuil YA oh coehd o YR & 1T hid] &

(A) SRR S
(C) 3aet I

(B) wdyer 3R faer &
(D) WR 9 &

5. The range which separates Indo-Gangetic Plains of Northern India from the

Deccan Plateau of Southern India is
(A) Karakoram Range
(C) Aravalli Range

(B) Satpura and Vindhya Range
(D) Pir Panjal Range

6. frfere TPTRT < Thiq Sesife feer wia 7= 2

@A) b (B) aRell

(C) = D) wwml
6. I S Tl W FMiha Sesifie Buem (It =7f 2

@A) P (B) o

(C) T D) wml
6. TR S ST fRuTer E e S 7

) fayg (B) m

(C) =g (D) et
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6. Tmfefaa afen # @ = fewe™ @ & et 2 2
a) fay (B) Tm
(C) = (D) He1
6. Amongst the following rivers, which one does not originate from the
Himalayas ?
(A) Indus (B) Ganga
(C) Yamuna (D) Narmada
7. U SReors AN T A = ;
(A) 100 °C (B) -40°C
(C) 0°C (D) 4°C
7. e AT GG 7
(A) 100°C (B) —40°C
(€ 0°C D) 4°C
7. e demdea dan HifeT A e 2
(A) 100°C (B) —40°C
(€ 0°C D) 4°C
7. O o B JAfehad Bl ¢ -
(A) 100°C (B) —40°C
(€ 0°C D) 4°C
7. Water has maximum density at
(A) 100 °C B) —40°C
(C) 0°C D) 4°C
8. II% RGBT Pl *¥S 57oifieq Seoive, Roqel i Soreial F=oRhR SR 341 27 ?
A) ey (B) WIS
(C) SIS Kzl (D) e
8. T GG 4TI SRV, Toqel @R I I <1531 7 ?
A) ey (B) 4IRS
(©) dERew (D) HrEreg
8. & AUSISRIHST SR -gietat fegerm, THaReEm 3T STeRHRE! B ?
(A) e (B) T
(C) T fafirm (D) &= foftrm
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8. o % IcqTeH, foratur 3 Wud 1 AL S FATeT AHTReh foM b A1 g ?

(A) =TSy (B) 31T
(C) TerHifa fosm (D) FHTSISITE
8.  Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology
9. fafeire oifer “11 Frelfes et oz i forre w1 :
(A) 25 (B) wiGier™
(C) SoREm (D) ERAN
9. T St Sifers! (TS MR S (ot Somi fbfes 74 :
(A)  ZBIfR (B) wifrN
(C) SR (D) FreHEE
9. TERTE EHREGRHR THTET ¢ STUhicd oM sHeE! /A |
(&) = (B) it
(C) 3T (D) Fefrm
9. frferfiaa et i e & & R S AT Xfeedientt werel <6 wee |
(A) wItEm (B) SHf=m
(C) 3tiferm (D) Hehrm
9. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
10. SferReE (i &SB! “we fpuren (ed A ?
(A) #i® (B) r®
©) = D) =B
10. SRR (I 2T T F© & CITETRIS 2AMF ?
A) (B) “Tr®
€ = (D) =B
10. WISee SCRHTITE HIFE gHSTETE HIed e o 2
(A) @5 B) @17
(C) @6 (D) @8
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10. aiciiare ®, yfd & fepaa faeSt w8 8 7
(A) U= (B) @@
C) ®: (D) 33
10. In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven
(©) Six (D) Eight
11, Sqoqq (@2 qrera T2 Spe S = g ?
@A (B) A®
©€) = D) 72
11. SRS A6 A PR A0 SR SRAWR 2
) b B) b
(C) =5l D) I
11. WA TS TESTIAT STEEST {91 T ?
(A) HWH9 B) W=7
(C) W8 (D) =H 10
11. XA % foha T 37 & |1 W1 AT hid & 7
A) it (B) ¥
(C) 318 (D) <=
11. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
12, 1st SRR, 2022 ACCH SPTHE Rewa) @i 2
() TE@I (e (B) D@ AGEIS!
(C) Tew fos =i (D) PrE &<
12. 2022 G 1st SRRIKICS SPIHE Rewat @& feeem 2
(A) wEs! el (B) SmCAES “NUGRIE!
(©) fes feey <y (D) AR &l
12.  1st eI, 2022 B @1, @M T-T&T (finance) AR ER 2
(A) s femm (B) =5 Wied Tl
(C) Temwd fog i (D) S BTIfht
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12. Ugel e, 2022 w1 3789 o o #=fi w8 ?

(A)  FFSTar 33T (B) <igHIEH el
(C) e forea s (D) ISy &Ikt
12. Who is the Finance Minister of Assam as on 01st of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika

13. 31t §16, 2022 FMCATH ST 5 (2L &t =z ?

(A) e (B) iz
(C) Tofgs (D) gl
13. 2022 JH 31t ACE ST FOLEN (@l f2eT ?
(A) oI B) Hfas
(C) Tofgs (D) gl
13. 31st =, 2022 & AN AEHE THeE et € ?
(A) H 34 (B) WM 35
(C) ¥+ 33 (D) W= 32
13. 31 9™, 2022 % AEA T fohed Tt & 7
(A) i (B) e
(C) (D) =<
13. As on 31st of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
14. Tl om R (PR (e SpTe S| ~opd 5 2
Q) B (B) T
(C) eI (D) GM
14. 0 S@fs orieslom e (I SIRTIGTR S0 R SiRemE 2
A) = (B) Twelle
(C) SRIeTIE (D) Wi
14, TTEHETE BT BT R ToTE 59 el STETas fmT Terr 2
A = (B) Ut
(C) =R (D) ¥
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14. F=fafad 9 9 9 91 <9 376W & 91 H9T 9 Har g v

A) ==
(C) ™R

(B) Ut
(D)

14. Which of the following countries share border with Assam ?

(A) China
(C) Myanmar

(B) Nepal
(D) Bhutan

GET IT ON
Google Play

15. faferiie wereomes (ives SibRets 7o iz ?

(A) TR T
(©) M ISR oTg

(B) *<i2H(D Wl
(D) IR TSR CTg

15. [0 @i CTeefer MR (@ ETglb 73w 20 =it ?

(A) ST T (B) *RIZW0 OTg

(C) T R T (D) ISR TR
15. &S BHTE SIS Toire e TE3T FFST STBATETE G 2

(A) R-TRR A (B) wIsHR Hg

(C) o ESiIRehT &g (D) =iferm T &g
15. freferfaa geft & &, 6 o1 god o S TR ?

(A) TERRY &G (B) ®UsHTE g

(C) Yo EITHhT &g (D) el A

15. Amongst the following bridges, which one is at the Easternmost place ?

(A) Naranarayan Setu
(C) Bhupen Hazarika Setu

(B) Saraighat Bridge
(D) Koliabhomora Setu

16. afore FAPRRA (@< Tl 9T THGPS ST ?

Q) o (B) FARI

(C) < (D) =97
16. T Srafrs Trlelem 0 (@ T SO SR_ES ?

A) T (B) IRRIEI

(C) o (D) 79
16. TTERIN 99 U T §RATE & 2

A) festin (B) FiwEm

(C) drfdt (D) W
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16. Fefafgada s HiTd s ardi i g ?

(&) fesmim (B) BfwEm

(C) drfdt (D) W
16. Which of the following river is in the Barak Valley ?

(A) Dikrong (B) Kushiyara

(C) Boginadi (D) Bharalu
17. P SifEss 3% 15 2

A) Q@I (B) WA

(€)= D) ©iZS
17. PG e ol H ?

(A) TR (B) ™1«

(C) *MeT (D) =99
17. 3TEM STETETATR g a1 ?

A) w@ (B) A

(C) w9 (D) IR
17. 3T9H %1 TSI JT TR ?

(A) B (B)

(C) = D) e
17. What is the State Tree of Assam ?

(A) Hollong (B) Teak

(C) Saal (D) Peepal
18. SPINR (I OIS (IR S A A4S A0q SFES 2

(A) FRETEE B) ToHT

(©) TR (D) el
18. ToIRT 13 Y32 AR NR AR SR @I 2 SRES ?

(A) RRETEE (B) TOEF

(C) gAFHIe (D) =e
18. OieT TRkl T gfia Wiere Afe 3mam s € SRR g 2

(A) fowETR (B) T

(C) g =t D) &
18. I3 HehT 3R ganfia Hiere Hiet 3199 o fohd WM W & 7

A) RreEmR (B) g

(©) gaeft =t (D) =S
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18. Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo
19. W20 S[ES b2 Sl (w1 :
A) w11 (B) WRTIZ
(C) ity (D) oxa2
19. TR SHFES Bl ST (L Y 2 :
(A) w97 (B) W2
() =2 (D) foafe
19. SREME AR A1E o™ SHeHE g3 ¢
(A) U (B) <rehelrs
(C) damé (D) fawrg
19. SNETe feo I 99 T8I 1 91 a7y |
(A) (B) 2rhas
(C) TmrE (D) fémrg
19. Name the tea research institute at Jorhat.
(A) Tarai (B) Tocklai
(C) Tamo1 (D) Tingrai
20.  @I2¥ S| FARE 2R :
A) si3fH (B) IR AL
(C) el (D) Z=TS!
20. 2 SPTIR P 7 2
) iz (B) TR AR
(C) oS! (D) BEHRTS!
20. Tirfafem srafien qamm aeyEt gan o ¢
(A) wrsfd (B) IR GER
(C) srmfa (D) ggHTtd
20. 3T % TgA 2Teh! <l T STST |
A) wsd (B) IR GER
(C) (D) sgHTd!
20. Name the first talkie in Assamese.
(A) Bhaiti (B) Baruar Sansaar

(C) dJoymoti (D)

Indramalati
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21. =% I efosl T e 7wt :
(A) SINANS SCFHIA S THIG TETSIR I
(B) Sl SRR ST S T 5%
(C) 9 PR AT ISBF
(D) ol (T2 S beqer uhl
21. FAIS ne oD FCATRCE
(A) SHRIS HTMFH G TR IS (2 25
(B) =l ST wifel @32 T[S & 3]
(C) =57 Pz g2 AST
(D) hose (TeF @R oede n
21. TS G GR MRS 7
(A)  HiTE TSR I TER TedHHTS Ueed
(B) 3% SATEH 3Tl SR AT o5, S
(C) wTafdE T TSR
(D) WIS T8% I foeisH T ®
21. TS 9IS I T foRweh g 3l 7T ot ?
(A) e TegHt 3R TER Teavqs 7ed  (B) 310N STE% 3Tefl 3R guTS=g |
(C) wTafdig 3R T (D) A Y8& 3R FaieH <@
21. Swaraj Party was founded by :
(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose
(C) Bhagat Singh and Rajguru
(D) Motilal Nehru and Chittaranjan Das

22. SR MRUT @G Serm &, Eifs, 39, ot =i Tz fofed @R ¢ T

ToTC STl 67 2
(A) SefcRM 25 (B) =M 13
(C) =M 15 (D) =M 19
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22, ORISR MRHIEA @I R[S ¥, wifs, 39, o R SRR fefers @ Face

FA2AR?
(A) 25 R 4El (B) 13 =Rl
(C) 15=R 4=l (D) 197«
22. wrRait @fefoel o9 @fRrr oim, B, g, eF IR SEE S e
AIEATIE! 31 B 2
(A) @it 25 (B) @13
(C) w15 (D) @119
22, YA GiGTH 61 A 91 31w 9, Gerast, F1fd, foiim 3R 57 T2 & STER W YeuTe
Uk & ?
(A) =T 25 (B) =< 13
(C) ¥T= 15 (D) 1g=a 19

22. Which article of Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex and place of birth ?

(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
23. 2W el W2q AT (alfet oram (1) ShES
&) frEra (B) firsi
(C) W™ D) gt
23. 2R I ¥R TR (9lfeT W (975S) LS
@A) fetom B) e
(C) =ZFURmM (D) T
23. THIERTE NTfeet ITef STiet HIeT e WIFhT, e T (et THIe) GG |
(&) TR ®) feeeh
(C) et (D) T
23. el T[EG (o), GEWIG STICH I8 o1 Heharll fEd &
(A) ST B) feeeft
(C) &eme (D) Tt
23. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is
located in :
(A) Bijapur (B) Delhi
(C) Hyderabad (D) Bhopal
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24. OISR SPINP R HeIbe TellerE Srplsre RIA1 UDAN’ © ‘A’ 9f{Gq 51)¢f feieh! 5 ?

(A) ¥ (Aam)
(C) S (Aakash)

(B) @I (Air)
(D) «fSE™ (Aviation)

24, OISR SHNEF KW 56 TFETER Sopitel 9% ‘UDAN’ *Rifoce ‘A’ 3¢5 6

Q@R 2
(A) Aam (B) Air
(C) Aakash (D) Awviation
24, RaH ffve uhyees ffAferf geme ‘UDAN g9 fafammE, ‘A’ 31 91 et ?
A I™ (B) T
(C) 3T D) TEm

24, YA % AN IggIH BT 1 Uged, ‘UDAN H ‘A’ ST AL 8 ?

(A) Aam
(C) Aakash

(B) Air
(D) Aviation

24. What does ‘A’ stand for in ‘UDAN’, the initiative of the Ministry of Civil

Aviation of India ?
(A) Aam
(C) Aakash

(B) Air
(D) Awviation

25. % 10 =114 (BT IRIT FITF S TANS (T @I OISR il 1 {5 ?

(A) GFRGS B) THez
(C) T2’ D) R
25. % 10 7% (I DI IS ToRCTE 10 (Pl ©Ior &fovi 22w Tre 23 ?
(A) TR B) 6hr @
(C) Tl (D) e

25. % 10 9RG shie ST S8 THT s« shiva 1 firfafem srarit s 2

(A) THA (Airtel)
(C) o (Wipro)

(B) i =i wg (TCS)
(D) frE (Reliance)

25. M H S T 10 AT IS TR oA bl (8¢ i aTell Tgelt WA -1 4 715 ?

(A) TR
(C) T
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25. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance
26. TSR S ARG Bl e I FTHfeIe ! 30 s ?
(A) TN — SIEg (B) e — =i
(C) RASTH — el (D) sfefz - T
26. 01 SERS ToreH (dance form) 8 ©IF S JTHI T N &I (SISIG o7 2
(A)  THAAE — OIEG (B) &l — =P
(C) IfE=IGT — (D) efef — S
26. TERETE BT e SR A %d 3R o 3w vgstis meern ?
(A) & — A AT (B) @ — 3mE™
(C) wifefiargd — ehiet (D) nifeHt — ifgan
26. Treferiad & & 61 o1 e, T T4 31 3 g Ul & el H Terd 8 7
(A) I&TH — AT (B) @ — 3w
(C) wifefiaren — e (D) ifedt — sfeam

26. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?

(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mohiniattam — Kerala (D) Odissi— Odisha

27. SPINF GFHG 9617 TFq (Ramsar site) SEE{b (20 :

(A) T & B) IwETl

(C) YR e (D) fCz-Toeaml
27. SPINR €@ EPTE 3126 (Ramsar site) W&Iﬂ :

A) AR RE (B) ITwErl

(C) DIgR et (D) foz-ToraEt
27. TERETE BT 99377 3TEME AM8@’ Ramsar site e |

(A) o feret (B) sReeH

(C) igsh forett (D) feg-&wra

SLRC-2022/P-II/A 19 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2H

/

GET IT ON
Google Play

27. 3TEH H THATH THEK 9152 SARH & -

(A)  feur sier (B) STl
(C) =rgst sfiet (D) fes-S@man
27. The only Ramsar site wetland in Assam is the :
(A) Deepor beel (B) Bordoloni
(C) Chandubi beel (D) Dibru-Saikhowa

28. frferfie TgeIem T2s GG “TH Iwte, @D “bre” Sl (TTs MY 727 ?
(A) = S “If<R1eT Foriel JFER
(B)  &lICE TFeIT
(C) e =i Ry Saget wEetew™
(D) SR 7% T TFAR
28. Tefei® TgeIeEE @R “afs vt @fb <rors” siframi 10 ge == ?
(A) =FZ 8 IR PeTyiel TZeIT
(B) ST TFeIe
(C) e e Ry Sage wEele™
(D) ¥R 1™ Tz [FR
28. TERTE g &« Taft faTgt “adt sr=na, st ugren” urauiRai gerestt etrea it 2
(A) FrEty A/ 7@ 913 w6t fawe (B) g3t stmers wEh fawm
(C) Fmesll I gl s wf fem (D) g wee ST we e
28, fr=farfga § @ &9 @1 e “adt sEne, 98 uersn” s hl g | el el | ?
(A) TETEA TR YRER eI Hed (B) it faehm wome™
(C) wfgen v are foremmar waTer (D) THe HETge forehe gare™

28. Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?

A)
(B)
©)
D)

Ministry of Health and Family Welfare
Ministry of Rural Development
Ministry of Women and Child Development

Ministry of Human Resource Development
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29. T AT TRIRWIRE F'© T[S :
(A) TSR (B) WI<20
(©) =l D) fe=re
29. ST fofeeo wifmyler s[fEs :
A) e (B) w@R2G
(©) @z D) fezore
29. 3TEM Hfcehe! HUIETTHTT §&T € ?
(A) oo (B) <irETd
(C) T (D) fese
29. 319W Afsshet i fad 8 —
&) foem (B) SHEre
() TeTErd (D) fespre
29. The Assam Medical College is situated in :
(A) Silchar (B) dJorhat
(C) Guwahati (D) Dibrugarh
30. SIS bR SIS (@I el 2 6 SRIT CIe Sivs ?
@) e (B) “Ifvzme!
(C) fefecbatizrem= (D) S Saveey
30. SIS TR SEUICo! FRie] BHL (FIIGF 0% HTS ?
A) ome (B) sifv=ars!
(C) Tof&Blenzrs™a (D) ASAL TR
30. YA TE@RH gare, Hem ssudyet, Mer seei odiea ¢ ?
(A) BEIEH (B) @raH e S
(C) AR WA= (D) TSI AT SITTTS
30. UM Sy, YA TR i FohE Tget o T BT 7
(A) PRt (B) ==l
(C) fefSreeftntm (D) Tstam ferenm
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30. The mission Indradhanush, an initiative of the Government of India, is
associated with :

(A) Immunisation (B) Cleanliness
(C) Dagitalisation (D) Highway development

31. SFOq RGO 17 © 52 [efaq Sl SICetval 51 (2R ?

(A) TPTR (B) dfe =fi
(C) =eprel (D)
31. SRS MREATER 17 =R G-l @04 [Keyfe % 6 2
(A) wPTR (B) Them =\
©) w=prel D) T
31. BRI SoE! SERATIST AT "l d = @1 17 1 s g 2
(A) ARG (B) ST S
(C) g (D) &t
31. WA  HII9H H1 STToS¢ 17 foheeh I & Hafua g ?
(A) T (B) SYI AAF
(C) AHd (D) gt g
31. Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) Untouchability (D) Sati

32. 1919 57 fTHfIfs B! 961 1 FRS =96 @It wifeeT 2
(A) NS =2 Y2 I
B) TToB O C FRF{E el
(C) 3% eiem
(D) SRR 19 CHIRPRS To=11

32. focw Salre @ 9615 1919 @ safes = 2
(A) AT i A
(B) b8 GRS TR el 2
(C) o=
(D) SNSRI J: & Lol
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32. TERMH g« JARI 3 1919 HIEARTE TRTGHA ?

(A) T TN TR (B) Wi — THBIEH BIEATESHR
(C) sTAM TGS (D) SAfAATETAT ST FARHHTA

32. FAffgad @R acm 19199 8 gg oft ¢
(A)  Tore uge i fepam man (B) Wi <FBRIE U i TW0T hl T
(C) < o1 forameA (D) SIAATETAT ST HTE

32. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy

33. TAET® (R b el a7 @ 3amhel Bl Taiee F919 o0 2019 HoI1 e1E T2S

T FI 02 ?
Q) w1 ¥fe Siele (B) &1 PP S
(C) o1 T2 4o T2 S (D) & A58 ST
33. 0w Srafis @ “IRFemih oot 16 @ TR 2 TS IR &) 2019 AR SEL
T IS 2 e ?
A) wEfE STl (B) T e wifeae
(C) =@ 24 @i (D) & 51 SRSl

33. TEMEH & AEUIREE! § 2019 WEAHM A5 GHAE “IET 8¢ YATE T @it
TRAEE!” FTEHT S TG ?2

(A) < wfed AR (B) e ferepta Al
(C) <t & o & A (D) A TS AR
33. o oI 3R TV U H sfl A o fote Jarrg 2019 # FraferRaa & @ 1 ot Ao &
FHI S oft 7
(A) <o ifed AR (B) e fereptd 31fim
(C) < & g7 8 M (D) < SN IR

33. Which of the following schemes was launched in July 2019 to accelerate
water harvesting and conservation measures ?

(A) Jal Shakti Abhiyan (B) Jal Vikas Abhiyan
(C) dJal Hi Dhan Hai Abhiyan (D) dJal Bachao Abhiyan
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34. TR (PRI BR CIF RN 197 Gre &ivs 79283 ?

(&) RIS (B) e
(C) T=le (D) <o
34. G SAlS @R 2D Yfe (5o QITeH A I 7 ?
(A) IS (B) &l
(C) w=RMNe (D) TG
34. TERIN 99 STRTET Y Yeretsli elied € 2
(A) gl (B) s
(C) wsTETE (D) wTERET
34. Tr=afefga d @ %9 a1 wm giferm &7 @ wafa & 2 2
Q) g (B) il
(C) drmETie (D) HERET
34. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita
35. TR (1 I #9) 8 Tl 9 (GST) el 41 02 ?
&) @ (B) @
(C) Jl=rel (D) W IEE
35. T I 229 A 8 GTAI 9 (GST) IR FCITRE 2
(A) @il B) T
(C) e D) =Pl
35. 9o gIeUE sAfgEa! R Tea 3 ey o (GST) 311 -/ STe) 2
(A)  SEA (B) wHE
(C) el (D) 3R
35. %] UF TaT KL (ST 3. ) AN B ITEAT T8ell < i &1 o7 ?
(A) A (B) W
(C) hTeT D) .t
35. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA
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36.

36.

36.

36.

36.

2022 514 QIIS] W12 ST, ASPTSIS A TR ST L6 ST (B0= ?
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&) Fos (B) Tereim
(C) Sr&EN (D) Teq &
2022 F SIEIRTS (I A0 ETTSI FEH S et 2
A) foe (B) ST
(C) ez (D) Teg &
3 2022 AISYRIM SR GHIEHATE WRAH 9 TgSiig] S8eH T e 376 Sa-Rgse! sk
T ?

(A) HATREHT (B) A YW
(C) TSEI™ (D) I I
TR 2022 T, T<F AT | Faifereh Hiel arel TsT 2

(A) e (B) =& e
(C) TSEI™ (D) I I

As of January 2022, the state which has the maximum number of seats in the

Rajya Sabha, is :

(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh

37.

37.

37.

37.

TG T AETIPITS DS BITS SIS Sue] pi%e] ?

A TR (B) T
(C) Rpesw D) T@BY
I A AT RO e SlFey “Ifv{e SRR ?
A) =R (B) S
C) Rpesw D) TWBY
= T 3T AR TS GATSH TH1E WRASE raar Hame ?
(A) TaHga (B) 319
(C) o (D) HHI
org ST o SITEAehTeT o SR 1 T W 3T/ 4T 7

(A) TEaEga (B) 319
(C) o (D) HHI

SLRC-2022/P-II/A 25

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

37. Hiuen Tsang visited India during the reign of the King :

(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (D) Samudragupta

38. fffie @M TR Sews wafes 7N (Economic Survey of India) @<
FE?

(A) BT T “ifsm (National Development Council)
(B) @ 71@ (Institute of Finance)
(C) SRR “fieey @fSd (Indian Statistical Institute)
(D) f&€ TFee™ (Ministry of Finance)

38. Iy SraEfrerE Wo (@i ©ihred Sdtfes Fu (Economic Survey) & FF ?
(A) GIORT Savgel “Ifsam (National Development Council)
(B) @ (Institute of Finance)
(C) SRR PRy A2 (Indian Statistical Institute)
(D) f&@ TZee™ (Ministry of Finance)

38. RS BT ST b1t AT 3% sfen @t fegr ?
(A) BT ST Tﬁﬂ'ﬂl (National Development Council)

(B) TS 3% Brg-
(©) sfem Riefwd s&eR
(D) e 316 wrg-a

38. frfcrliad o @ o1 W w1 3nfiss Teleror yepTfird sar g ?
(A) TN ferehrE Uitye (B) ot Hewm™
(C) YR FRgeshia T (D) T waTer™

38. Who among the following publishes the Economic Survey of India ?
(A) National Development Council (B) Institute of Finance

(C) Indian Statistical Institute (D) Ministry of Finance
39. ffaiys @M @iy SLaifes Serimamie FeeE F=va Tifedas ¢ frgd e 2o
qCF ?
A) SHEelEs (B) “ffear
(C) T (D) &
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39. W Sl @@ I4ifere TE Seomeie] Aoom FHFIES NifTdege @9 g

2T ?
(A) el (B) “ffe=iat
(C) Wf¥rs (D) Ta®
39. TEMEH s« G gt fHama mae fogtum $En BrREt StehraT e ?
(A) HHTSETE (B) Rfver
(C) TTATE-HI=T @1 (D) = TETfy
39, fr=faRad o @ frg sredome o, 9} IcdTes GETYH SCHR & @iftica 3R FREm H g 8 7
(A) THTSET] (B) dsfiaret
(C) fafer (D) el

39. In which of the following economies, all productive resources are owned and
controlled by the government ?

(A) Socialist (B) Capitalist
(C) Mixed (D) Dual
40. IS 06! 2T T2 SIRIE 1942 59 SIS Sjio) SATwIeT SIS F(ReT ?
(A) FRS 7IS (B) IR t2feam
(C) %53 IS I (D) @il Wi
40. G SR @I 2 1942 A T2 IR AR SRS RITS! SItviEH SHS 23Re ?
(A) PRSI (B) IR GHEAN
(C) 5P FIS 7wl D) &aifs T
40. TEREN § SEHE TETeHT M ‘YR TR THEERAR @ 3 1942 A8I=Td S
AT A 2
(A)  TIraTSit arh (B) s&H wfezm
(C) 3T it Hew (D) T He=
40. I 1942 T HgTeAT el gRT YA Bl 3eie HefoiRad # & fohd T w3 foram mm o 7
INIREEIEIRIE? (B) &M wfeam
(C) 3R Bhifd HaH (D) Tl #e=

40. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?

(A) Shivaj Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan
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41. V5! RA[ FALG. 40 T PITe 9178, 4 | TRAMHF 1< 12 7' Pized @iareat

T3
(A) 20 (B) 24
(C) 28 (D) 32
41. 930 MR FAALG. 40 €3 A1, 4, W 7Y F2(0A “12fF 12 = O ©TH @9 -
(4) 20 (B) 24
(C) 28 (D) 32

41, HFAA SHNGE g.37.491. (LCM) o1 I&™ 40 3R SE@RH <.37.91. (H.C.F.) I1 9o/ 4 |
Sfe o AR O e o BRETRT 12 SR, e o IEiET U greTed

59 ?
(A) 20 (B) 24
(©) 28 (D) 32
41. < TS BT TA.HL W, 40 B 3R 3761 TIL.HL.T. 4 B | AT T T3t & & 1 AR 12
2, A EEHIH HI AR :
(A) 20 (B) 24
(C) 28 D) 32

41. The LCM of two numbers is 40 and their HCF is 4. If the difference between
the two numbers is 12, then the sum of the numbers is :

A) 20 (B) 24
(C) 28 (D) 32

42. J51+J134+5J42+\/E+\/§ T :

(A) 52 (B) 8
(C) 19 D) 9
SPACE FOR ROUGH WORK
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42, \/51+J134 1 5y42 + 16 + /9 G T = ;

GET IT ON
Google Play

(A) 52 (B) 8
© 19 D) 9
42, TERTE SR TRTH AH fegT |
\/51+J134+5J42+\/E+\/§
(A) 52 (B) 8
(C) 19 D) 9
42. 3rfirefad
\/51+J134+5J42+JE+J§
Eb—[]:ﬂ:[%:
(A) 52 (B) 8
© 19 D) 9
42. The value of the expression
\/51+J134+5J42+JE+J§
1S :
(A) 52 (B) 8
© 19 D) 9
43. 273 23 SR SR 1 4, 3 T 239 FEC SISOR 2 Al N 4 (F 2990 IR0 SIS
3 2] (312 FR2IG! (2R :
A 25 (B) 41
© 13 D) 11
SPACE FOR ROUGH WORK
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43. G0 FRAICE 2 2 S5 FACT SR 1, 3 BN S5l FICE SR 2 =R 4 [ Sl T

S 3, 7
A 25 (B) 41
(C) 13 D) 11

43. Y FRERE 2 i THARTE TIERGRT TR 1; 3 S TAERETE TFERGRT SR 2 3T/ 4 S
TS THEIGRT SR 3 | & STARSTHTRT e
A) 25 (B) 41
(C) 13 D) 11

43. TH GEN 99 2 ¥ fawrfod it 8, O A%eT 1 WaT?; 3 | °F ¢4 W 2 I S=am g 34 F
WIS W 3 AT S=q1 ], T8 2
A) 25 (B) 41
(C) 13 D) 11

43. The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :

A) 25 (B) 41
(C) 13 D) 11

44. T G O 317 3 Jien AN ARG BT Tofey Hofiesl I 7R | S2AIRGIF F_F T

2

29:
4) 3 B) 4
©) 5 D) 6
44. I SRR T 3 74! IS FHceT ARG b7 ©itad fom 3o =7 | saesifba o9
4 3 (B) 4
©) 5 D) 6

SPACE FOR ROUGH WORK
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44, Y S@EERIH (fraction) TASTHET (numerator) 3 SESAT § SREE@GISAT o
3/4 SR | & SRETEEICI TSI ST

A4 3 B) 4
©€) 5 D) 6
44. 9 TRe i s H 3 H g Bt 7, @ i A - fr gfg ez 1 i w s e -
A4 3 B) 4
€ 5 D) 6

44. When the numerator of a fraction increases by 3, the fraction increases by its
three-fourth. The numerator of the fraction is :

@A) 3 B) 4
©) 5 D) 6

45. %,\/;\/%W\/%wimm;
&) E (B) \E
© % (D) E

45. % %,\Eﬂ«\/gﬁwmw;

@) % (B) \E
© % (D) E

SPACE FOR ROUGH WORK
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1 1 N1 2
45. \/; \E \/gaﬁ\/;ﬁmraﬁmmw
2 1
A) \/; B) \E
1 1
© \/g D) \/g
s. \ﬁ F Faﬁﬁ%aﬁawﬁzﬁa%:
2 3 4 3
2 1
A) \/; B) \E
1 1
© \/g D) \/g
45. The smallest among \/I, \/I, \/I and \/g 1S :
2 3 4 3
2 1
A) \E B) \E
1 1
©) \/g D) \/;

46. ﬂﬁx=x/§,C\SC@x4+i4§W2§C§:
x

1 1
A) 9= B 2-—
A) 9 (B) 3
1 1
C) 9— D) =
©) 5 (D) 9
SPACE FOR ROUGH WORK
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46. IMx= /3 W@ x4+i4émw:
X
1 1
A) 9= B) 2=—
A) 5 (B) 5
1 1
C) 9— D) =
(C) 5 (D) 5
46. ﬁ%x=\/§,mx4+%ﬁﬂﬂmﬂﬂﬁ'—[
X
1 1
A 9= B) 2=
A) 5 (B) 5
1 1
C) 9= D) =
(©) 5 (D) 5
16. AR x= 3, Aat+ L wARE:
X
1 1
A) 9= B) 2=—
A) 5 (B) 5
1 1
C) 9— D) =
(C) 5 (D) 5
46. If x = /3, then the value ofx4+i4is:
X
1 1
A) 9= B) 2—
A) 5 (B) 5
1 1
C) 9= D) =
(©) 2 D) 5
47. I LY 2 o XYL gy
3 4 7° 2z ’
A 1 B 3
©€) 2 D) 4
SPACE FOR ROUGH WORK
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47. W E=Y e YTV qmomm
3 4 7 2z
A 1 B)
6 2 D)
47. AR E=Y 2 e XYy aman wwim
3 4 7 Z
A 1 B) 3
6 2 D)
X Z X+y+2
47. m‘\agziz??ﬁ zyz S R
@ 1 B) 3
€ 2 D) 4
47. IfE:Z:E,then Xry+rz 1s equal to
3 4 7 2z
A 1 (B) 3
€ 2 D) 4
48. TS GHitF TR AW W Kaoa! 1 BIfG TP TR @I9FE 64 | FRAFCILHR I
T R2ICH! (=0 :
A 13 B) 11
(C) 16 D) 9
48. DR &SP RIS T (consecutive alternate) FRE @IOFE 64, AR T FTOA
R
A 13 B) 11
(C) 16 D) 9
48, TIFs BTN S AR SR grerTan e 64 | SERE were e smfmmn sam
(A 13 B) 11
C) 16 D) 9
SPACE FOR ROUGH WORK
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48. <X FHANTA Thial T3 1 AT 64 7 | 374 § T8 B & 8 -
A 13 B) 11
(C) 16 D) 9

48. The sum of the four consecutive alternate numbers is 64. The smallest
number amongst them is :

A) 13 B) 11
(C) 16 D) 9
49. TG MY 2 : 3 TS (R F PRST FALG. SF 9.7.8. 7 7T =02 96 | IR
VOIS (191 (R
A) 8 B) 12
(C) 20 D) 36
49. 3% M GG 2 : 3 GR ST AL, @R AT, G 770 T 96, IR 736A
51T 297
(A) 8 (B) 12
(C) 20 (D) 36

49. HFAA IR FJUE R 2 ¢ 3 FR S{RM g.37.91 (LCM) 3/ <.31.91 (HCF) &
HASTTERTIAT ST 96 | & Wi ST greiemmat fog |

A) 8 (B) 12
(C) 20 (D) 36
49. QY HEE 2 : 3% UM § & 37 376 LCM 3T HCF 1 TUHGA 96 2 | T3 HI I 2 -
A) 8 B) 12
(C) 20 (D) 36

49. Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF
1s 96. The sum of the numbers is :

A 8 B) 12
(C) 20 (D) 36
SPACE FOR ROUGH WORK
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50. I ‘A’ IHANT ‘B O 25% [@Z, (508 ‘B’ I 7AWl ‘A’ I HANZS(S [Pl *SI 5 2 2

(A 20% B) 25%
1 2
C) 12=% D) 16=%
© 5 (D) 3
50. M A%, ‘B’ (AF 25% @ (@ 2% OF ‘B-GF (@0 ‘A’ (AT FS *1oi¥ F 2(J ?
(A 20% B) 25%
1 2
C) 12=% D) 16=%
© 5 D) 3
50. Jfq A 1 9uman B T semfgs 25% aifeH, s B 1 aumsn A 1 semfrgs o8 S
©q ?
(A 20% B) 25%
1 2
C) 12=% D) 16=%
© 5 (D) 3
50. If¢ A 1 da B o ddq 8 25% 3Tk &, ol B 1 9a" A o oa- § foha-T Ifaea a8 ?
A) 20% B) 25%
1 2
C) 12=% D) 16=%
© 5 D) 3

50. If the salary of A is 25% more than that of B, how much percentage is the
salary of B lower than that of A ?

(A) 20%

(©) 12%

1

B) 25%

(D) 16%%

51. 5! FoTq (PREINI o I1<5 98 Bf Bz ReeTial (2f%eT | &Terss &« o1 912 I weTihie 4l o1’ qi9

SRYFT 7B AT TRA il 7I12Ret, (STS Teihr® 2 o1 19 AR =R

A 5 (B) 7
(C©) 10 D) 14
SPACE FOR ROUGH WORK

SLRC-2022/P-II/A

36


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

51. 98 15 OfF (toffees) € wel (R N oqe I (TS 291 | WRAI6A ATSIPIG (F0E, TEA6
STy AL 7289 BRF (toffees) TET | aTlbLS (RIS ST AL fiee

A 5 B) 7
(€ 10 D) 14

51. HHH Al WY SEMGBRAT 98 2% (toffees) TR SIGHM | o el BIGTHT HThITST
A U BETBRA AR 2 79 <fh Higae | Selista U SEhHR

ISR AT ?
@A) 5 (B) 7
(€) 10 D) 14

51. Teh UYE H B cISehi bl 98 THAT AT 715 | THE o TcUeh TTSeh ohl, IS oh! T ¥ &1 THI
ifteart fireff | Tmg o crgent <Al T of -
A 5 B) 7
(©) 10 (D) 14

51. 98 toffees were distributed to some boys in a group. Each boy in the group got
twice as many of the toffees as the number of boys. The number of boys in the

group was :
A 5 (B) 7
(C) 10 D) 14

52. ¥ cos 0= %, (0% sec O I I+ :

2 2
a“—b b
A) — B) —
a
(C) +a?+b? (D) b
a+b
SPACE FOR ROUGH WORK
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52. ¥ cos 0= %,Wsec 0 QI T 2(J :
2 2
-b b
A) EE— B —
a
(C) +a?+b? (D) b
a+b
52. 2 cos 0= %, ST sec 0 T AT e
2 2
a“—b b
A) b B —
a
(C) +a?+b? (D) b
a+b
52. Jfc cos 0= %,T‘ﬁ sec 0 =T qH B
2 2
a“—b b
A) EE— B) —
a
€ +aZ+b? D) >
a+b
52. Ifcos 6= %, then the value of sec 6 will be :
2 2
—b b
@& B) -
b a
€ +aZ+b? D) >
a+b
SPACE FOR ROUGH WORK
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53. «b! L g AN 20z 6 (6.R. | flqgaE Fifd 27 :

Q) 6T.f2 (B) /6 .f.2
(C) 3w.fz2 (D) 3 .2
53. (b T fagrem «ifafy 6 on:fir: | fagefba vwaws ze ;
A) 6712 (B) 6 T.f2
(C) 372 D) 3 w.f2
53. TFY TS A r@frami arfife fmmn 6 9./, Smse o smanfrumi gsargiem
a9 ?
A) 6 @M B) 6 @.fu)?
(C) 3 @.fir)2 D) /3 @.fir)2
53. T gHaTg Bl 1 afwm 6 9.1, 8 | s 1 &we 7
(A) 68.1H.2 (B) /6 @.H.2
(C) 3u.2 D) +/3 9.1.2
53. The perimeter of an equilateral triangle is 6 cm. The area of the triangle is :
(A) 6cm? B) V6 cm?
(©) 3cm? (D) 3 cm?

54. ~/0.04 ++/1.44 +/1.69 +/0.0009 T I C2(2 :

(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03

54. +/0.04 ++/1.44 ++/1.69 ++/0.0009 9 I :
(A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
SPACE FOR ROUGH WORK
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54. +/0.04 ++/1.44 ++/1.69 ++/0.0009 1 AT &=
@) 173 (B) 2.03
(C) 2.73 (D) 1.03
54. /0.04 ++/1.44 ++/1.69 ++/0.0009 HIAFE :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
54. The value of 4/0.04 ++/1.44 ++/1.69 ++/0.0009 is :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
55. TPIC & FRIIT 45% J S S LT GG 30% T AN | &I S TSR AR SoI©
ek
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
55. @3B TRANT 45% T GG TR 30% @ AN | &2 7RG @ rypw AzS
SIS
A 2:3 B) 3:2
C) 3:5 D) 2:5
55. TME NI 45% 37 AT AFE JANHET 30% S @0F =T | Of A Aty
AT TS &=
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5
55. Tsh HEAT I 45% GO FE&AT % 30% ° THIH & | Taell T hl gl H&AT § 31 & -
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
SPACE FOR ROUGH WORK
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55. 45% of a number is same as 30% of another number. The ratio of the first
number to the second number is :

A 2:3 B) 3:2
(© 3:5 D) 2:5

56. forera ©i2q (Bfer @ 5l WM &N FF qite 2AfSiie iR ol 41 479 s
IifteTeE 2 12 @M | I ©fF 29F 7+l T 12 @ S WS @, (908 30 7eg 5o &)

R ID 4o A1
(A) %5,420 (B) %5,580
(C) %5,620 (D) %5,780

56. Torer OIF ol Ao YIS AT F@ @ &ifsfie ©IF o i e o @ T 12 Bt
N = | W G 24N T 2 12 B! S T 9 I O foTed (G 9T 30 e o

2«
(A) 5,420 (B) 5,580
(C) T5,620 (D) 5,780

56. fotsran Mafd GHYH § (Savings Bank) 37@ U GHYAT | 9T SHYFAT faeist arshwe!
S SreTETTE gRYET faeifgg 7 12 U SifiE S e | e S92 12 v Aty amfies
SHYHATIGE! ST 9 30 T3 Sammme forety gt mé faeisn =
(A) 5,420 (B) %5,580
(C) %5,620 D) 5,780

56. ST 3794 SId S A 39 a8 § U9 ST it © o 7t 3Tt fem sEeht st afy swes st
fem <t st wiT & % 12 31feres 81 | Afe 98 veet fed ¥ 12 ST st &, i oo g 30 fei

37 | ST 1 ITE Hot TR Bt

(A) 5,420 (B) 5,580

(C) 5,620 (D) 5,780
SPACE FOR ROUGH WORK
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56. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with ¥ 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) 5,580
(C) 5,620 (D) 5,780
57. < eNb (Data Set)
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
T 5 foref 51 |
A 8 (B)
© 5 (D)
57. O AR TLrIl e 3591 -
1,2,4,1,5,12,7,8,5,1, 16, 17, 12
A 8 (B)
© 5 (D)
57. TTERITE BHTT WINGTH ToRdT @t 1R |
1,2,4,1,5,12,7,8,5,1,16, 17, 12
A 8 (B)
© 5 (D)
57. ST U i ATIEIHT AT HIT |
1,2,4,1,5,12,7,8,5,1,16, 17, 12
A 8 B)
© 5 D)
57. Find the median of the data set.

1,2,4,1,5,12,7,8,5, 1,16, 17,12

A4) 8 (B)
©) 5 D)
SPACE FOR ROUGH WORK

SLRC-2022/P-II/A 42


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

58. ,/22 1/25 ‘/ I g T |
729 144
7
A —— B —-—
A) 9 (B) T
20 11
D) ———
27 ) 36
58. 1/22 1f25 1/ &ﬂﬁfﬁﬁ
729 144
7
A —— B —-—
A) 9 (B) T
20 11
D) ———
27 D) 36
/22 / 25
58. o= Eg:l ?
729 144 V
7
A —— B —-—
A) 9 (B) T
20 11
C) —— D) ——=
©) o7 (D) 36
225 25
58. _— L —— bl HIH |
1/72 ,/14 1/ T ShifeTg
7
A —— B - o
A) 9 (B) 2
20 11
C) — D) ——
©) o7 (D) 3
58. Find the value of 1[ﬁ —JE —JE .
729 144 81
5 7
A —— B —-—
A) 9 (B) T
20 11
C) — D) ——
©) o7 (D) 26
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59. ‘A’ @ @1 P 2+ 7|l KA 1:00 I&© 1 &, /GrEs @9re @t 9IS e | B @
«F 2 P 3 7[ @6 firere [@fer 1:10 qee 2 ./ Gres @61 T9l SRS e |
B A AT QITS 9 AR, (S8 PQ I T :

A) 1.5R=M B) 1.75F M
C) 1278 (D) 1.25%.f.

59. ‘A’ ORI @l P SR_EN (P [KFe 1:00 W0 @fs Gy 1 fok Toor we 3949 |
‘B e 1:10 bR G2 S P 10T G52 Sfoqey &fs ¢iees 2 [ol weoor i@l
W B | AW B, A G99 3RS Q HEI [WeTe 2 w1 PQ 79w -

A) 1.5R=M B) 1.75F M
(C) 1.2Rf D) 1.25 %M

59. ‘A’ 31 P SmA% 1:00 fu.ww. fomame 1 (. /Aeh=) @remssti grae ™l | ‘B’ 3Tl o ue
ST P faser o1 we ferma 1:10 fu.ww. fomema 2 fir. /deh wremsst geern | i B
3 A’ G IR Q 31Te enTEHTset, PQ 7 smsan Sirem
A) 1.5 f%.f (B) 1.75 f.fu.

(C) 1.2 f%.fa (D) 1.25 f.fu.

59. ‘A’ YU 1:00 S 31O IE1 T P & 1 #Y. /A, i il T 3 T R | B 31w ann &
T P @ 3 3 feon ¥ guex 1:10 s 2 Y. /4. R 1fa @ e Har ® 1A B, ‘A’EQ
W‘Hﬁlﬁ%,?ﬁPQaﬁ@%:

(A) 1.5 w1, B) 1.75 w1,
(C) 1.2 Tt (D) 1.25 fep.1fi.

59. ‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.

‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ is :

(A) 1.5km (B) 1.75 km
(C) 1.2km (D) 1.25km
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60. T G ANE ToT &AW 40% BPT F91 R3 T OF =S 20% I 541 241 | T4 9o

XSTR] /G (22
(A 20% (B) 40%
(C) 24% (D) 28%

60. 1o T To &AW 40% FAIC] 21 AR ORI 20% (S 1 231 | Y00 (D AT

?{:
A) 20% B) 40%
(C) 24% D) 28%
60. WY SETEH SAAST fifsEma 40% @HET SR SR 20% FRET | ST SEET e
I SEl JreEE! ?
A) 20% (B) 40%
(C) 24% D) 28%
60. T ] i HIWd | T8 40% h1 HH hl AT & R TR 20% h1 fg 1 It B | hma §
G TRETH BT
A) 20% B) 40%
(C) 24% D) 28%

60. The price of an article is first decreased by 40% and then increased by 20%.

The net change in the price will be :

A) 20% (B) 40%
(C) 24% D) 28%
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From Q. 61 — Q. 63 : Insert the correct options in the blank space :

61. On the moon,

to retain an atmosphere.
(A) thereisno
(C) no

air because the Moon’s gravitational field is too weak

(B) where no

(D) 1sno

62.

in front of a camera lens changes the colour of the light that reaches

the film.
(A) Placed a filter
(C) A filter placed

(B) A filter is placed
(D) When a filter placed

63. In 1850, Yale University established Sheffield Scientific School,

(A) engineers were educated there

(B) where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated
From Q. 64 to Q. 67 : Choose the correct pair of words which are SYNONYMS to
each other :
64. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irritate — Instigate
65. (A) Rely — Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
66. (A) Deride — Arrive (B) Derive — Divide
(C) Deride — Mock (D) Mock — Praise
67. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant
From Q. 68 to Q. 70 : Choose the correct pair of words which are ANTONYMS to
each other :

68. (A) Folly — Stupidity
(C) Visible — Unvisible

(B) Sweet — Salty
(D) Scatter — Collect
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69. (A) Advance — Retreat (B) Abandon — Desert
(C) Elevate — Raise (D) Value — Success
70. (A) Acquit — Convict (B) Expect — Hope
(C) Faithful — Loyal (D) End — Finish

From Q. 71 to Q. 76 : Choose the correct options which best explains the meaning
of the given idioms :
71. “To split hairs”
(A) To quarrel bitterly
(B) To complain about every small detail
(C) To argue about trifles
(D) To study every detail minutely

72. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly
(C) To investigate an allegation (D) To lie vehemently

73. “To see red”
(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk

74. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest

75. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(D) To discuss a matter endlessly

76. “Bird in hand is better than two in the bush”
(A) Probability is better than possibility
(B) Certainty is better than possibility
(C) Possibility is better than probability
(D) Probability indicates certainty
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77. Choose the correct order to complete the sentence :
I. Ismelled the gas
II.  Door of my house then
ITII. As soon as
IV. 1 opened the front
A I IL II0, IV B) IIL II, IV, I
(C) ML IV, II 1 (D) III,1V,I, 11

78. The following sentence is divided into four parts. One of the parts has an
error in it. Read the sentence and find the part containing the error :

“The movement which aims at
@)
raising awareness about climate change, hopes
(1I)
to bring people together to think about
(I11)

what they can do for reducing harmful pollution.”
(IV)

@A 1Iv (B) III
©) I (D) 1I

79. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic (B) Untouchable
(C) Actual (D) Edible

80. Which among the following options is correct ?

(A) My thoughts are with the families of those who have lost their loved
ones in this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones
in this unfortunate incident.

(C) My thoughts are with the families of those who have lost their loved
ones in this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved
ones in this unfortunate incidents.
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81. 3G IS FITCH! 3 T IS #1771 @IS 3 AT @l Foreitet e 2o TR ?

@A) D B) W
(C) R (D) E

81. I & 3¢ AN I (AT AT (7th) FE GR TH 7F (AF @ITST (16th) ZI
iR ?
@A) D B) W
©) R D) E

81. IS ERGMHIAT §d IS AT e forf st ferfisme g 2
A D B) W
€ R D) E

81. 3TUSI TUMHTAT T i HT 318N T ¥ HicTad 318 oh 910 & Fdd TIH W fR[ g 7
A D B) W
(C) R (D) E

81. Which letter of the English Alphabet is the seventh from left of sixteenth
from right ?
4) D B) W
€ R D) E

82. <fibe 31’3l bl Io© IS (2 A% T2 | oA, @IfT® AT 7' aAfereq Aers Sz | I
[T INSFICE SR | @IS 11 ST/ 2 | 3 [0 PIFICE (e 202 ?
A) B (B) Tt
(C) wifzs (D) Wl

82. “ibeH (R JEIFIE SBAZ W ICT TR | W [T @R Feleres 0 ICNR |
ICETR ANWCP, @IES TR AN | (& TG 5 T I0TR 2
A) B (B) T
(C) wifzs (D) vEIfers

82. HET FETETH HHY sEAd AT M | Ufgd 3T gafsa Teie 3teat e |
HAS A SRR 3 Ufgasn gaafy smfafy e | st smrerfoemme |k

e 2
A) gaa (B) W™
(C) ufza (D) cafdd

SPACE FOR ROUGH WORK

SLRC-2022/P-II/A 49 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

82. Ul TTgeh Teh B U HL 1 TIHT A 5T NS § | 3o, Ufed 3t Srerofia o <= 8 1 g,
A % o1 IR R, Ve, Go & 1S 3R | 350 & Sih g A F2T R 7
A) gud (B) wame
(C) Ufea (D) Qs

82. Five boys are sitting in a circle facing inward. Ajay is between Rohit and
Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?
(A) Suman (B) Shyamal
(C) Rohit (D) Doljit

83. T & (08T Fe(F 3 I=CI TIe IF (S6F RPT (97 @9 19 vifee | I 3
2T RS (96T 7[@F TP 15 T=9 R, (90F (ST 1917 TEHI 7 (7R —
(A) 60 3=F B) 5197
(C) 4832 (D) 4577

83. & (3T OIF FIF (AP o ITEH IT R O (RCETH ICT BIF @91 TC | I 3 I
R S (@R T 15 I R, O O B TEH 7 S ?
(A) 60 ITT (B) 513CW
(C) 483IW (D) 453ITT

83. wE wHreEn fafy fafafgs @R 3 e o ety fearsary g3 4 @ @R\ | 9
ThaTseTTa SEe SR U e 15 SR SEisdr, § TEEE S agen sniramese

o ?
(A) 60 FER (B) 51 dER
(C) 48 §ER (D) 45 SER

83. ek 3MTEH 7T Uil T 3 Tt 2T 8 3TN 79 9 | AR [T 9181 2 | A I 3 9 &g 15 9
1 EI AT 8, Al 35h! Tt <hl IdH Y 2 -
(A) 60 (B) 51y
(C) 4899 (D) 4599

83. A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife is :

(A) 60 years (B) 51 years
(C) 48 years (D) 45 years
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84. IfSo[T “15® ifrel Qe ATl BT ARl TR FEIE $vaee =ifz =ifewt | AR
(T @ RO 2ITH1 ©I2T SRS “IRTR | ARSI @ 3 Pl wifeeT ?
(A) Wl B) =
(C) T3 (D)~

84. ISl GIR TS| FFECE AN QPG S QPG MG Q9 PR | ARl (74e] @
ST =R SRS IR SR | AR (@I 4 B SR 2
(A) b B) &
(C) Tex (D)~

84. wftar 3 Afsrarn Giaama faar arfire m g e | afearn afaf aree
Tttt sfaf 32 | afsdren 59 forfe arat s e ?
(A) @rer (B) IS
(C) Hm=r (D) &N

84. W TR Tlar Gore =l & T gAY o UTH 31 T8 & | W@ 5 <@ o |t o 918 SR @i
1 B oft | wferar fopa feum <t 3R 3= oft
A) gl (B) T
(C) W (D) ufvem

84. Sarita and Savita were coming to each other in the garden in the morning.

Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?

(A) South (B) East
(C) North (D) West
85. M ad20% I T b =, ToCSB 20T b% I IANN 2T :
(A) ad 4% B) ad 6%
C) ad8% D) ag10%
85. M a 3R 20% b = 20 €T b% I+ 2 :
(A) a9¥94% B) a9v6%
(C) a«9q 8% D) a 93 10%
85. dAficafi20% MbIARI T 20 T b% 3 i 9HE SITTA |
A af4% B) afi6%
(C©) afi8% D) af110%
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85. Afc a1 20% b &, @ 20 T b% TAH B :

(A) a=l4% (B) a i 6%

(C) a= 8% (D) a1 10%
85. If 20% of ais b, then b% of 20 is the same as :

(A) 4% of a (B) 6% of a

(C) 8%ofa (D) 10% of a

86. O ORT PRI A4 2 6. W, (7 5 T3 o< ©f7 f1ze ETReicst g 8 6. 7 |
o free s =R 2 {64 e afwafed 4 .50 77 | SRS ©iE e IR
1 5.5, ooy 31 wiF foreq o ibet T9fEe =7 | FRoR TR o bt Ireq

TS P Vg (2R :
A) 25 M. (B) 13 .M.
C) 12 %M. (D) 17 <M.

86. el SR WP @A @G 2 fRefae *1fs, 8 foefis o Tefvs, owm 2 fefie
offites @R iRl 4 frefirs wifeel e AR | SRTIE @1 I fiee G f 1 fefie &G
ORI SRIGT TR | SRS S[PT @R SfF SRFET T RS IR 772 (aerial

distance) 24 :
(A) 25 fpefie (B) 13 fFefie
(C) 12 fwefug (D) 17 fFefie

86. wfsamn Ma wegfamE aEeny 2 f6.f. aemEn | afwE e ey 8 km
(for.f.) SramTT w2 foh. T, eremrETEl 3T 5T @iemtr 4 fop. Ty, amemn | SheummE
forn ety fifdar 1 fo6. M. emememma mafa 7' sme g | sy aegfa sm fafy 5

TSR TERE SR (Aerial) STHEATSAT SITER
A) 25 .M. (B) 13 f®.fu.
(C) 12 f&.fu. (D) 17 f.fu.

86. Hiddr U4 HRITGF & 2 foh. . gd it 3R Fordt 2, TRt 8 fob. . o1 31 37k fike 2 fon .
T8 <l FAR 3R T 4 Fo. o, eferor 1 3T =T B | 37a § =g ¢ gedi 2 3 310 Ui
T Tga o f7q 1 foh. . =t @ | Sfoan o SrRiie iR 3Heh ST1EHE o s =IJad gaTs

e
A) 25 fep.1t. (B) 13 .t
(C) 12 fep.1ft. (D) 17 .t
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86. Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she
turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25 km (B) 13 km
(C) 12km (D) 17 km

87. 35 : 6T I MoFCH AL AT I T o3 541 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. I Al THICIT 35 : 6 U O GP2AFA ©IF T9IFS ©f fordine) 31 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. TR AN TG ARG, S ST HIF-8T 35 : 6 SRed SHGITH |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. 3T T M 1 =9I L e g1 Teamd 3 YhR FERa 2 S 35: 6 8 |
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11

87. Select the number pair in which the two numbers are related in the same
way as 35 : 6.

(A) 85:9 (B) 64:8

(C) 26:5 (D) 120:11
88. frraferire =w(a1q Ffewiceral ol wigfe)f e Sreil :

(1) TR (2) T (3) f=e

(4) T (5) frpie (6) T

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

) 5,4,1,2,3,6 D) 1,5,2,4,6,3
88. ey Tral¥re xS Jhewid gk wevjefeicq sAls :

1) W™ (2) TNCHY (3) wWA

4 3 (5) T=aist (6) 3!

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
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88. TIERITE BHTT AIGEHIE! AR TR ST SIS A |

(1) S (2) SEEA

(3) WINEEH™ (4) 3@

(5) TEE ARYN (Low Pressure) (6) edMI

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
88, Freferfan wsdi 1 A 39 srefyst 7 Tt HF

(1) et (2) U (3) dTEl

(4) wriw (5) hH g (6) @

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

C) 5,4,1,2,3,6 D) 1,5,2,4,6,3
88. Arrange the following words in a logical and meaningful order :

(1) Cloud (2) Rainbow (3) Devastation

(4) Rain (5) Low Pressure (6) Flood

(A 1,5,4,2,6,3 B) 5,1,4,2,6,3

) 5,4,1,2,3,6 D) 1,5,2,4,6,3

89. IM ‘HONESTY F 5132468 f25I@ = ‘POVERTY F 7192068 fpid o141 =7,
(S(® UCF6! (FICUE ‘HORSE’ < fe1f wiifarq 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014

89. IM ‘HONESTY’ 5132468 20T 14 27 ¥ ‘POVERTY’ 7192068 R (=141 27,
S 3 NS ‘HORSE' 5 ©Id @12t g 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014

89. dfe HONESTY @& 5132468 i foweml 3md POVERTY @ 7192068 i
TS o W@ 3HRT EE! (code) ST HORSE @t Arai foremn 2

(A) 50124 (B) 51042
(C) 51024 (D) 52014
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89. Ifc HONESTY ! 5132468 3 POVERTY ! 7192068 foran Sirar &, f 35t wig o

HORSE ! for@n Jan 8 -
(A) 50124 (B) 51042
(C) 51024 (D) 52014

89. If HONESTY is written as 5132468 and POVERTY is as 7192068, then in the
same code, HORSE is written as :

(A) 50124 (B) 51042
(C) 51024 (D) 52014

90. 200 . S 100 M. 71T 7344 @58 FHEE 20 &,/ BT =T 22 f./ Grres @9
TR ©IE 9ifs F =z | A @@901E 7471 G5! s 91 @, (508 G4 AL

IO FRACE I TS &G 27 ?
(A) 212 S (B) 135 0%
(C) 150 TGS (D) 120 TS

90. 200 fi5I 319 @R 100 N6 =791 726 @E9NTE TMISARTSE 2w &fs Eraee 20 foF
@R elfs eIty 22 fioR afste were | I G 2 W w92 s v s® OF
RS SNOTH FACS S T M(F 2

(A) 212 TS (B) 135 PG
©) 150 P D) 120 TIES

90. fom it @™ w200 . 3R 100 . Meme Twmfe = mafist s 20 fir.A.
IR 22 .73, | Ife Tomfs e v fema wriee, S8 Memaf 39 fSEi aE @R 2

(A) 2124. (B) 1359.
(C) 1504. D) 12079.

90. 200 T 3R 100 HieT Tl g 3+ HUS: 20 HIW/Behsg N 22 Hiet/Aehs il e T THMIR
T T 2 | A I wh A fown =@ W E; @ 3% U g 1 IR H fopat we @ 7

(A) 212 THs (B) 135W%hs
(C) 150 Ths (D) 120 TS
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90. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?

(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.
91. @I 93 (aged @R TET S eire % % iw?mwﬁﬁmwzxwﬁ | fggesa
GRS "9 qrd (e
(A) 52T (B) 48 5.1
(C) 44 T.M. D) 40 .1
91. Y31 fagres e wHre %:%:i @R 7 (perimeter) 104 GIBRGE | fages
Aoy b =
(A) 52 TIGRGE (B) 48 ARG
(C) 44 TIHRGR (D) 40 ARG
91. HFY STEMIAH HAERGRM FJAF & %éi I FRATE fommn e
104 9.f1. | 9 srEnfRrym Temafas smanfRrn se
A) 524.fa. (B) 484.fa.
(C) 44 9., (D) 404.f.
91. U Frgs 1 YS3T 1 I %% i%aﬁiwqﬁm 104 9.1, 7 | Bioga Y weg ot
YR
(A) 5281, (B) 48 9.
(C) 44 9.1, (D) 40 3.4,
91. The ratio of the sides of a triangle is %%i and its perimeter is 104 cm. The
longest arm of the triangle is :
(A) 52cm (B) 48 cm
(©) 44cm (D) 40 cm
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92.

92.

92.

92.

ferRiz @2e BemE 630 IR Blfee, A9 Geree f&miz TFe IR Fa19 20 e S
& =re e | (G I i 45 M e femiE fbemse sl | 2R Srmm
GRIR 16 e =Mtar o Jfe ore e | 7 famiz meda Bt 3 Fifes,

(S0 FHENE I 5o F 1 sl 2'a1 2
(A) HFIE (B) fEIT
(©) ¢eIl (D) RS

feml «3fb Hetbtad (movie) BRFG T (booked) TR I WS ¥g Hefba
(trailer)?{%"ﬂﬂ@?%ﬁﬁ@w 20%‘{@ | GAEGER eWi*e 48ba (trailer) 45
'l =19 1 5I6@Ts (movie) GTd®e | fert vafteals (@ 16%VE€TW% (movie)
e i@ | I @1 qRkEiE B 5590 (booked) FCAMRS O AARA (@I e
BEIA G TR ?

(A) HFR (B) ==&

(C) == (D) R

T = we wraAi fefoha s S SayA trailer @t fafd fefpa smmmafs = 20 Rret
fegTomamrEmH | oo o FEYgTE! trailer fegTom aFM M 45 M 3@ @A | W
grEagE! SR T aEi 'E 16 @i fogam s | Jfe 99 e @rfa o aayAat
TSN, & HEYH GEATEH 6 TG [CgAS=mHM 2

(A) IEHIR (B) WHeER

(C) eEmr (D) HTAER

T 3wk fthem =1 feahe o fopa forgrent 3o feshe 55 v & 20 e vt R foparm e o |
SR Tl B o 45 Teq =g 98 fohew gt @ | fohew 39 7 @ 16 e uaet et g3 off
T B 3 fohew <@t oft | Targ < fopa e fovem fefiar 53 off 3R 3o Womm 1 fewme g
feRam o 7

(A) IEHER (B) wifamw
(C) qam (D) HTEER
SPACE FOR ROUGH WORK
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92. Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya
watched the movie. On which day of the week was the movie released if she

booked the ticket on Sunday ?

(A) Friday (B) Saturday
(C) Sunday (D) Tuesday
Q. 93 I 7_1 Q. 95 T : SpeifEe At / 3 / *=lb vl 1
93. 5:27:9:
A) 83 (B) 81
(C) 36 . (D) 18
Q. 93 to Q. 95 SIS 7Y / I / *=[ (Ww [T FA! :
93. 5:27:9:
A) 83 (B) 81
(C) 36 (D) 18
Q. 93 v Q. 95 fam .
AR SANHI/ERE/AREa! AR
93. 5:27:9:
A) 83 B) 81
(C) 36 (D) 18
9 G 93 W 95 doh O /IS [Td HIFAT |
93. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
From Q. 93 to Q. 95 : Find the missing numbers/letters/words.
93. 5:27:9:
A) 83 B) 81
(C) 36 (D) 18
94. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
95. Bus : Driver :: Horse :
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
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Q. 96 I 7}/ Q. 98 T : fHfeiie BT e fofbl ¥ ROR SIfE AT T S QTR0
GIiTS TGS | (15S WG IR KPS el 1 |

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 96 — Q. 98 : I TS KFER T oL AT A KO T T IR | FIG G2
T T@ofS 73 ?

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 96 M= Q. 98 fam
TERITE EH T8t TETH (options) HHAM g1 W = e (Pattern) S T& ®RART
IR SEREAT HI9E Sretl TS 81T | o SrellatTd MRIssI e TgEl iR |

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

A : U9 G&1 96 A 98 : Frferfigd = foepedi # @ i ek foy Yo 8§ wme € 3R zEfoe s
g S © | TE O et foshed I €8 |

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762

From Q. 96 — Q. 98 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762
225 100
97. A) 3378 (B) o
169 289
© 2744 ) 5832
98. (A) 15 (Emission) (B) @w3 (Pollution)
(C) ¥4 (Contamination) (D) ToEeRe (Adulteration)
98. (A) fsfm (B) &
C) w34 (D) ToSERFRe
SPACE FOR ROUGH WORK
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98. (A) IGRGIM (B) T

(C) el @A (D) THISI3TE MR TARATE
98. (A) IS (B) Sy

(C) Tm (D) fireree
98. (A) Emission (B) Pollution

(C) Contamination (D) Adulteration
99. ene bae fqge™ 5 AL 1l 4 :

A) 12 (B) 18

(€) 22 D) 26
99. I (eI oq (/T Tagred AT (TS &= 6!

A 12 (B) 18

(©) 22 D) 26
99. o HEAMINITE HHeH I € ?

A) 12 (B) 18

©) 22 D) 26

SPACE FOR ROUGH WORK
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7

99. & T Irhfa H Pl it e Fa HIfe

(A) 12
C) 22

(B) 18
(D) 26

99. Find the number of triangles in the given figure :

(A) 12
©) 22

B) 18
D) 26
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100. g iz, Slerei, Qfoz
93 (HAPTIRY e 715 TFBICF afsfiiig T «I1 e fbere w1 :

(A) B)
©) D)
SPACE FOR ROUGH WORK
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100. 1S firall, Ao, @R — @3 ETSBTENF TR T TeFeei@ afsfifag Fa foals

oolre 359 -
A) (B)
© D)

100. U@ (Classes) BRI ATETT AR AHERE 53 HEES! AT BRARIT THra! iR |

(A) (B)

©) D)

100. 39 3@ ! Tg=M L Sl {8 T T b sfi= < G| i GaaH €9 & G0 8 -

(A) (B)
©) D)

100. Identify the diagram that best represents the relationship among the classes :
New Delhi, Sr1 Lanka, Asia

(A) (B)
©) D)
SPACE FOR ROUGH WORK
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